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I 
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Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt 
of this question paper. 

2. Answer any five questions. All questions are divided 
into sections, A and B. Attempt any five questions 
out of 7 questions from each of the sections. Section 
A has short answer questions and each carries 5 
marks whereas Section B contains long answer 
questions and each carries 10 marks. 

3. Answers may be written either in English or Hindi; 
but the same medium should be used throughout the 
paper. 
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l. ~ ~- "Cf?(" ~ ~ -tr "3i1R ~ ~ Ati\fuf ~~ '9( ~ 

dlji;ti'licfi ~ I 

2. ~~cfil~ &, ~i\'~f~llPT<lTtl ~-mi\'~ 

7~i\'it~5~~"3m~l~3Ti\'~~-w.Fr ~ 

i-qcf~ 5 3lcncfili~~~it~~~i 3ffi 

~ 10 3lcn cfiT i1 

3. ~ -w.Fr- "Cf?f" cfiT "3m 3roiffi<l"T ~fciim ~~it~.~ 
~~cfil~~mm.:rr~ 1 

4. Explain why the saving curve slopes upward and 

investment curve slopes downward in the saving­ 

investment diagram. Explain. 

~ cITT' fct ~- ~ 3lW<l it ~ - ~ ~ cfil 3m: 3ffi 

f.:lw- ~ ~ cfil 3m: GIB cf@ c.FTT t1 cfUH ~I 

5. What is the net export function? What are the shifting 

factors of net export function? 

~ ~ l:fiWf q'l:{f t? ~ f.:l!lfu ~ cfiT ~ ~ 

q@ ~ q'l:{f t? 

Section-A 

(~ 3T) 
6. What is the money? What are the functions of money? 

1. Define macroeconomics. Explain the evolution of 

Classical-Keynesian debate. 7. Define the money multiplier. Explain how the creation 

~ ~ cfiT ~ ~I Sl@fisod-ch)~Rtll-1 ~ ~ of credit by commercial banks can have a multiplier 

fctcnffi-~ cfil clffio!TT cITT'I effect on the money supply in the economy. 
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(i) Calculate the equilibrium level of income and 

multiplier in this model. 

(ii) Calculate also the budget surplus. 

C = 50 + 0.8 yd 

r = no qi{fs 

G = <200 cfiUs 

TR = < l 00 cfiUs 

t = 0.2 

(i) ~ ~ ii' 3ll'll' ~ ~ "@'{ W,TT ~ ctt 1f1JRT ., 

2. What is the relationship between private saving and 

national saving. 

3. When does the unintended inventory investment get 

zero? Explain with the help of a graph. 

~ ~ ~ cfi<I ~it~ t? • ctt ~ 

"ij~~I 

4. Describe the goods market equilibrium with the help 

of desired national saving and desired investment. 

~~~c!'<lT~~<tt~i~~ 

~<liT<l1lR.1 

5. The size of the multiplier varies directly with the size 

of the marginal propensity to consume. Do you agree 

with this statement? Explain. 
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TJclirfil 3!1cfiRW~~~ 3!1cfiR~~ 

~&{ ~ i ~ t <f!IT 31N ~ cfi'<R i ~ t? cllRo!lT 
~I 

6. Explain the effect of an increase in marginal propensity 

to import on equilibrium level of income. 

3!r:r~¥~qi:3Wmfcttw~~~~i;Miq 

qilq$!'~1 

7. Define demand for money. Explain Keynes's approach 

to the demand for money. 

Section-B 

(~ GI) 

I. Explain the major macroeconomic issues. 

2. What is the GDP? Explain the expenditure approach 

to measuring GDP. 

~ ~ ~ <f!ll t? ~ ~ ~ ~ '1flt! cfil ~ 
~cfilqUR'~I 

3. Given the following data for a hypothetical economy:- 

C = 50 + 0.8 yd 

I= no Crores 

G = noo Crores, 

TR = i 100 Crores 

t = 0.2 
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